CMR

INSTITUTE OF USN §_‘ -
TECHNOLOGY
Internal Test 2 —June 2022
Sub: Power System Analysis-1 Code: 18EE62
Date:|  08/06/2022 | Duration:|90 mins| Max Marks: | 50 | Sem:| 6" | Branch: EEE
Answer Any FIVE FULL Questions. Assume missing Data
OBE
Marks
CO |RBT
1. |Derive the expression of phasor voltages in terms of sequence components of 10 |CO3 | L2
voltages with necessary phasor diagram.
2. |Prove that in a three phase symmetrically wound alternator generator only 10 | CO3 | L2
positive sequence components of voltage.
3. |Discuss about the zero sequence network of a transformer for following connections. 10 CO3 | L3
a) Y-A, b) Y with neutral directly grounded —A, c) A-A,  d) Y-Y with both the neutral
grounded through Zn.
4. |Derive the expression of complex power in terms of symmetrical components. 10 CO3 | L2
5a |A delta connected resistive load is connected across a balanced three phase supply of 5 CO3 | L3
400V, find the symmetrical components of line currents and delta currents.
5b | Obtain the zero sequence network for following one line diagram. S) CO3 | L3
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Obtain the positive, negétiQe and zero sequence network for following one line |10 CO3 | L3
diagram.
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In a three phase system, the sequence quantities are :

Val=(0.9+j0.2) pu, Va2=(0.2+j0.1) pu, Va0=(0.1+j0.005)pu.

1a1=(0.9-j0.1)pu, la2= (0.2-j0.1)pu, 1a0=(0.05-j0.02)pu. Find three phase
complex power in pu and in MVA, on a base of 100MVA. Also compute active
and reactive power.
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Where all are pu quatities
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5b. Zero Sequence Network
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